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Bl g A d J1ow US> (dcdaile (pe sLiin 1) s gud ol ALt - o

1- During a geological trip, Ay IS oLl i s g - )
one of the students found large O 3yuiiS OltaS (A gl g

quantities of salt-tasting cubic crystals | <02 o>le 3100 dase Ol yo-ly
near a lake in a hot, dry area. A8l 5)l> Adlaie 5o

Deduced the type of this rock? ¢ puall 14D ¢ g miiiul
(@) Biochemical Sedimentary. e gz (1)
(b) Clastic Sedimentary. L sy Q)
(©) Chemical Sedimentary. S isuy )
(d) Organic Sedimentary. gsae gisuy ()

2- All of the following are the conditions | ;555 o g & iwe (o5 Las JS -¥
of Delta formation except....... | ... Ide Lo LA
@ Downstream into quite lake. PLIVY JUPIPE PPN { @
@ Low slope of the sea bottom. o1 pl8 il AL @
@ The sea 1s free of currents. L (yo ! gla @
@ The sea floor is subjected to subsidence. | .doggll jomdl§ld (1o pas @
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3- When we make benefit from 09 e (it 3320w | Ui -
the reserved petroleum to make Aol —3 Jg—0ud!l
petrochemicals, ....... happens | ... Crdong Oy glanS g pid!
(@) Increasing the economic income of (0 @aLaiBY | Lilali Baly) @
petroleum. Jaadt

@ Decreasing the synthetic fibres. e liuall LAY o @

@ Decreasing the economic income of O GILaidY Lilat) 413 @
petroleum. .J oyl

@ Decreasing the global consume of oLl OGN s @
energy. PE{INL

4- A violent tectonic earthquake occurred - WPk Yviw i) (U S Pu/N WP A
and resulted in the waves shown in the Ol galt ddie C—anitg
figure, and therefore this earthquake ....... Ly (JSLILy dmid gl

~~~~~ JIHM 1A pla

Spreade vibration &3 s g

@ is recorded and mass destruction aie Loty Lomud @ @
1s created. les

(b) is recorded and does not cause 1 o ¥y a0 @
any mass destruction. sles

(c) not reach the monitoring stations o 1 Sllame M s ¥ (D)
and cause destruction. Joles cocung

(d reach the monitoring stations and o 1 Sllasms ) Jaas ()
do not cause destruction. 3les cocs ¥
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5- Deduce the types of the geological S 5 ) gl it -0
structures in the following figure? S laelt IS (B Ao T gund
M L z
Y
M Y L Z

@ A normal fault and three reverse faults. | i 3152 133055 (gsle @6 @
@ Two reverse faults and two normal faults. | gl olatls lusSas latta @
@ A reverse fault and three normal faults. | .asle 3152 25354 (usSae 3112 @
@ A strike slip fault and three reverse faults. | i g 512 3 i s ol @

6- Which of these movements caused the 1 Ol AGYY) OIS ot :gi -1

formation of Andes mountain? $ ¥ Il (95T

(@) Diverging motion between two O st O Bpaela a8, ()
plates of same specific weight. Lo 3 (3388 (i Lag!
Converging motion between two Ot 98 (i A LT A8y @
plates of the same specific weight. e 51 )1 i Lag!

(c) Diverging motion between two st (o aeli a8, ()
plates of different specific weight. 251 (1391 B (it
Converging motion between two O 9 (g A l5T AS o @
plates of different specific weight. (251 (1388 B (pralisns
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7- An opened museum in Alexandria [o-iae aowie dwldl Cied -V
for the submerged monuments in the 00 A)lSu¥) Ade 2
Mediterranean Sea as a result of the ot ole (B 4B latl HLOY

earth movements downward in the OISyt A Jawgiad!

north of delta. L Jled Aaslgh dud )N

Predict the changes occur for these oisg) Gt (1 Oy LS

monuments which were made of a white | i s e dc giadtt 5%

rock with veins and deformed fossils: + A glie Orly yiam g LB yaS Ay

@ Dissolve and disintegrate by the Jads JSTG 9 Lgis @
effect of oxygen of atmosphere. (S9d1 #1981 (pumusS]

@ Dissolve and disintegrate by the SUae ¥l Jaay JSTG g wgis @
effect of acidic rain. g

@ Dissolve and disintegrate by the olead! Jaas JSTEg L gis @
effect of alkaline water. .4 glat

(@ Break down by the effect of CO, 5Ll CO;, Jads 53 ©)
produced from the factories exhaust. -Blactipalge (e

8- In the following figure 1 gad| JSAIN (B -A

a magnitude of . a. B i

an earthquake was d:ii;:h;}ﬂ 2. ) Aamall 8 130311

recorded at station (B), Enicentor (g3 ©) &3 (B)
it was 5 Richter. point v sap 3

What are the magnitude ‘:”J "' ,:u e “S

of this earthquake "(C) (:)f @ ‘

at stations (A) and (C) ‘
8 M5 le

respectively?

@(5’5). .(ow)@
@(4’6) .('Hi)@
@ (6, 4). .(im)@
@ (6:6). YORING)

[4]
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9- Which of the following methods used to | (ks (o jmCis (b Las ‘gt -4
benefit from components of biosphere? | @il SligSe (e 33laiw¥!

Py ve il
(@) No use of all components to notbe | 43bsSe alisiul pue @
depleted. e Y e

Investment all components with the | ©LsSed! pea Hleiiou!
same degree. By A o

Know the benefit of it’s components. 451 S0 30515 48 yae

©® O

Convert all components into g0 Al ailigle Jags
renewable resources. Ao

® 00 ©

10- Renewable environmental resources i1 Badaiall Adedt 3yl gall (o -+
that enter into natural cycles ...... | ... dado Ol yga 8 S5l
@ Gold and Oxygen. VPO L (PRENN @
@ Plant and animal. O gt g LA @
@ Water and hematite. dilegl g £Lad ! @
@ Water and CO,. Y YPCS [NV { B LPRWK | @
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11- What’s the result of passing the 290 e 4G yialt Eld) Le - )
river water on high porosity and low | O3 j95u0 e gl ol
permeability rocks? SALIS Aadladg Adle diolune
@ The volume and speed of water dogsledt mana o @

increase. ALy
@ The water volume decreases and s 3 sLadl s

deposition of its load. A g

@ Both the water volume and abrasion | 2229 sloed! g vy
Increase. ot

© ® ©

@ The volume of water decreases and | =99 st pa> S

its speed increases. Ay
12- A depositional succession consists GOlEds ¥ (e (o3 gy 2 LT -V Y
of three layers. This succession was Adle Lexle doy Sl
intruded by high viscous magma. A g U1
What are the characters of the A oS S padlas Le
tectonic structure produced? 8095l
(@) The limbs approach upward. el g sttt gz oyl (1)
@ The limbs become away upward. oAel (po Ol lint | 4d delis @
@ The hanging wall moves upward. Y S glall dallod) g &yl @
@ The hanging wall moves downward. | ¥ gslall dailall g & o @

[6]
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13- All the following geological structures | d_.gfoot! cSI, JS -\Y¥
may be present in the regions of 2 Lo gl (Sey AGYI
earthquakes activity except .......... AA Dbl glalia

—A T a\ Joee  — .. fde Lo

@ Pressure caused bending then sl o galda 2 @
breaking. S @3

@ Pressure caused breaking down with o ruS AN g3l daiis @
displacement. Ay

@ Pressure caused bending L0l | gl o @
of layers. Ciladatl

@ Tension caused breaking with s S M gl ua @
displacement. sy

14- What is the geology branch has great | 4 g L g gt ple 98 Lo -\ £

effect in industry by analysis the raw | 4ctual! Jlxe R 38 50l
Ol Jodod Gt plo (e

. . s 9
materials for some industries? S Olebiuall | & " M)s“

@ Petroleum geology. -Jord! b 9l g @
@ Geophysics. b5 gt @
@ Geochemistry. s leoS gt @
@ Structure geology. - AeS Y Lo ot gt | @
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15- What is the reason of the lack of StS pmad ) ol s Lo =\ 0
nitrogenous compounds in the soil? L Vpvi [ Y WEAE PR
(@) Increase harmful insects. skt shasiast; (1)

@ Use of chemical fertilizers. SV PRVIS RO (PINESI @
(©) Death of useful insects. bl Ot g (3)
(@ Over use of chemical pesticides. SRS N O)

16- The plant which is flowered in i B ot oy UM S - Y
summer will grow vegetatively if it’s | Cuad 131 L jiad gaiey auiall
plantedin ............ | eeees P Al
@ Spring only. dadd ag @

@ Winter only. NP AT @
@ Autumn only. Jadd oy a3l @
@ All the year seasons. L @
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17- Which of the following dissolved gases | aiLsgs sie AL S jLats :gi -\Y
in rain water, has the most effect on BETERC{RYCTPUN (PYPYE-
Peridotite rock? $CCS 9l 3| yuio Sle
(@) Carbon dioxide. 050SH sl 315 ()

(b Oxygen. DemesH (D)
() Nitrogen. ezt (D)
(@ Hydrogen sulphide. eyl S (3)

18- If the sea waves hit the rocks of the St zisel Cialalyl 131 -\A
beach consisting of marble adjacent to | (o 43sSed Gl ill jsouay

limestone, ...... = Layglaag als

..... A3 (S pmnd)

@ Formation of meanders due to erosion | ot JSEI Gl pai ()9S @
of limestone more than marble. A1 (e 38T (g

@ Formation of meanders due to erosion | abs 31 JS Gl yai (oS @
of marble more than limestone. (G dl pndl (o ST

@ The waves do not affect on limestone | e zls—e¥! 535 ¥ @
and marble. INESR [PIPSOPS (BEWN |

@ The waves erode marble equal to d i pls M B 2l ge ¥ Comid @
limestone. (St poonld G glasa

[9]
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19- There’re two samples of granite and Sl padl e Oliiue Sladt -1 4
gabbro with equal volumes. -l (8 i gLucke 9 palnt g
These samples are different in all of :JS B OLALE olialt (L5l
the following except ........ . | Ic Lo 3k Les
@ Iron ratio. ST A @

(® Colour of crystals. Shskdog Q)
(© Crystallization temperature. s By an s ()
(d) Number of crystals are nearly equal. Shskdisue wlas (3)

20- Arrange the following rocks in L:...mLaS WG yeualicdy-Y .

ascending order according to the 1 3oL 3S1 g ke Cows

number of centers of crystallization:

Ol o¥1 Calaald Cabudoddt Sl nd!
(1) Obsedian / (2) Rhyolite / (3) Dolerite / (4) Peridotite

@ @-®-03)-0) M-M-)-m) O
® (H-G)-B-©) (-()-()-M @
© H-B-3)-©2) (D-(M-()-) B
@ G)--B-©2) (D-()--(m) O

/00 Joll jgaJl - A= alpol) Al A 1uj



VoY /YNY ol yodf Aladt - 931 59l - (s o Y ARLILS) A p glatl g Lo o gameht - (p gl ) nalad) A - Aaladt Ay 3L Al 5ol AL BLgih Lol

21- If you know that the length of the 39alt Joko O Cale 13) -Y)
axis (c) is twice the length of the 39-adl Joto caas ()
axis (b) and the axis (a) is twice the a2 (a)y9->alig(b)
length of the axis (b) , and all axes are e 9 (b)) y9-malt Jobo
perpendicular. .ddalaie jolonad!
What is the crystal system does this St (gye-ldt allal) Lae
crystal belong? $ 5 9Ll 00D A d) (elS
@ Orthorhombic. @8 s
@ Cubic. .aSa
@ Tetragonal. el @

@ Monoclinic. Jeadt sals] @

22- Volcanic eruptions intercept a river A0IS 50 Zgalal) () Tial -YY

stream with an arc-shaped sector
leading to formation of ......

(@) ariver terraces.
@ a river capture.
(©) Oxbow lakes.

@ peniplane.

5= (e dellad jgd (S e
»»»»» 0853 (1 (352 (ugd

S g0 By @

.JL@S;Y‘J.“:‘ @

A g8 Ol oy @

daiialt dguadt (3)
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23- The occurrence of magma eruption Lo Loll ¢ 1B.31 Srgutm AN S Lo - Y
on the separating surface between 2201 (i et daud) e
the limestone topped by sandstone S Gla st g (G mnl!
indicates that ........... Soglay
(@) Presence a angular unconformity. $913 3a13 pue 3529 (1)

(b) Presence nonconformity. Olie 33153 e 3325 (Q)
(c) Presence disconformity. elladil 33153 pie 3329 ()
(@ No presence unconformity. Balgipae wan ¥ Q)
24- All the following are evidences e Mo e Sl Laa Js -YE
indications for the continental drift (SHLE B ¥ Sl
except .oooeeeee lue Lo
(@) Presence of coral reefs near the polar aolapall claillages ()
regions. Jcdadt) aataied (pe o patls

@ Presence of a rock its angle of magnetic | 42> %9l Sue 392 @
deviation 20° near the polar region. 2 atL () drudoliaed!
Jdaal| Adtaiell (e

@ Presence of coal layers near cold AL @mal | Glids 39 g @
regions. BayLd 1 Blliadf (ye

(@ Presence of a rock its angle of magnetic | &b e 529 ()

20 (A ) psslalinal!
.’A.guh.d“ all dakaiqd l[_,.n

deviation 80° near the polar region.
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oo ooe

25- Deduce: The main factor that reduces the | i1 wlu1 Jolal Eili) -Yo
influence of organisms in the ecosystem to | At LAY 31 (ro UGy

repeated climatic changes ..... —>sToSa¥ I al_taitl 2
15,5 A L Ol kT
@ Simple food chains. dacee d ) ASIART St

@ Intricate food chains. ASHLaT ) AGIAAT L S|

@ Increase time of decreasing temperature. | .3, as s palasil (o) sl

O©O®OO

@ Abandance of suitable amount of food. | sl (pe diubie SlieS Ja43

26- Rocks contain primitive fish fossils, Ay le (G9ioD ygus - Y1
and on both sides there are rocks (PR Py Py Wi Y N REL { P
contain primitive amphibian fossils. A ya e (Gl y9Pua
Which geological structures describe SAdyl ‘3‘:‘5‘0;‘
the previous? “aia’ do gt gt oS 61

¢ G Lo
@ Graben and anticline fold. s duds g hus 3110 @
@ Horst and syncline fold. b yade adog )l 312 @
(c) Horst and anticline fold. e by b @l (D)
@ Graben and syncline fold. B pade hulo g aws 3112 @
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27- The carbonate mineral which was used | adswiudl 50g ;53 Hall - YV
before as an ornamental stone, it can be | &S 4l Lo S Losud
identified in the field through ...

@ Transparency. adladd) @
Luster. -Gy
® @
@ Colour. -Gl @

(@ Crystal system. st (3)

28- What happen in the regions of I3 140 Glolie A G 1ale -YA
subduction of tectonic plates? e (PP o]
@ Cracks lead to volcanoes. S &g (6335 Claass

@ Cracks lead to rising of ground water. | .adslolallaclait a3 claads

@ Formation of mid-oceanic ridge there. | daowe dauwg e lasic o5

O®OO

@ Formation of acidic igneous rocks there. | auwass il jgiue Louic (4
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29- Which of the following environmental AGY) Aded) SIS :gi -Y4
problems can be solved by one of the OLigSe o Ll (-8 g
acidic igneous rocks components? §Adent! ALt jeuall
(@) Soil erosion. attaa,es (1)
@ Agricultural soil depletion. e 533 A, B ! @

@ Fossil fuel depletion. (a1 393 911 B 3k @
(@ Minerals depletion. Ostaatt it (3)

30- The following diagram shows ALl I datasdf -

a desert food chain: LAl PRI

Ahgs Al

Light energy

N1
A B X C

Which of the following is represented by ) ‘ ..
the letter X? Xy dlie) Glales !
@ Snakes and fennec fox. LAt Cdatg (yulad @
@ Grasshoppers and Jerboas. RS EPINFOS @
@ Grasshoppers and snakes. yolatig sl @
@ Jerboas and fennec fox. RETLHS [PUPS PR @
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31-

In the first desert tour, the turtles
were absent, and in the second

tour after 4 months, the turtles were
scattered.

Deduce the reason for that in the first
and second tours.

@ In the first is increase the number
of predators and in the second is the
increase of the amount of plants in
the area.

@ In the first is the lack of food in
the winter and in the second is the
abundance of food in the spring.

@ In the first the turtles were in the
hypernation and in the second the
turtles came out of their tunnels.

@ In the first is the death of many
turtles due to drought and the
second is the reproduction of turtles
with the increase of rain.

(T 9 %1 Ayl youall Atgatl 8 -
(et gl | piuiadl) Sl
ey 40U Waadl 89 s Sl

.3 e s St | Ok 9yl &

2 (el 9| (B S o el
sde Bal ) s Yg¥I @
;@M!QU!HJ!
AcaS Bal)y raalidy

.M!@Q\SL}.’J!

PR [PE- S [l @)
).333 :Lglm, wlicady
.b«.jjﬂd.‘aégén;‘;\jﬂ

I REIYI (ORI P { @
:Z\_Evmb “_53:_& C’Lﬁ 5).‘2;‘:
Lgiilina (o Can Sl G 5

o0 S I :‘_,—73‘}" @

bl iy s S|

e > Ml A Aol
lae¥idaly)

The eagle may prey all the following

marine organisms except: .........

@ Big fishes.
@ Sharks.

@ Small fishes.
@ Molluscas.

g iy B AL SLAISH JS -1
cee 1 Lo olaat Yk
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(Ol Jlgw JS) (3dalie (po HLAS ) A gud gol ! Al -LALY
4 gua 4B iy il
Light energy — X — Y — crustaceans — Z
33- From the previous chain, Y and Z (ALt AGIAR Alwdad) (po YV
represent ............ | oMiad Z . Y ola
(@) Yissmall fish, 3 piio Mewl Y (1)
Z is larger fish. BypeS Slawl 7
@ Y is larvae , (olB Y @
Z is small fish. B i Sawl 7,
@ Y is small crustaceans , chadsob,adY @
Z 1s larger fish. 8 S el 7
(@ Y is larger fish, GBS alenlY (3)
Z 1s molluscas. Glbgay Z
34- The presence of nonconformity (i Ol (38195 A S g g -Y'E
between granite and sandstone in RPN (RO [P TReS [
fl s1frfa.ce geological section is an oo w gt e gllad b
indication for ........ ... e St cia
(@) Downward earth movements. amdls assiols e ()
@ Sliding movement 1ot BN 531 4S @
of tectonic plates. A s
@ Diverging movement 79 Ayiels aS @
of tectonic plates. <A gisd |
(@ Uprising earth movements. andly assiols,e (3)
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35- The tendency to use shale in certain 2 Jalall alasTiu ol -Yo
industries. Oile Liual) G|
What’s the environmental problem S oM Acecdt AS AL Lo
may be solved by that? S o 1i0gs Lol
@ Soil deterioration. e )33 A i Bl @

(b) Spread of urbanization. SR (S SUN @)
@ Minerals depletion. LOalaedt Gl 3! @
(A Agriculture soil erosion. EPSSUPRCEHEE N E)
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36- Study the following graph then answer: | Brrs I WP (YR I
xu‘«:.-; p:i (Jalats
= (6 gt

Salt content
A

>X
What does the (X) axis represent e « X ) yg=ndf Jtas 1310
of the following? S
(@) Water depth. oleall Gos
(b) Temperature. Bliaan Q)
() Water speed. olsellae ()
@ Nutrients percentage. N T ON [ B
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37- The following figure shows a hand Wire o9 LAty Sy -y
spacment sample of a rock consisting 00 (952 yual A9y
of granules of varying sizes. -t Adglie Ol

Deduce the name of the rock and 14e 939 yuall @ i)
its type.

@ Conglomerate - clastic sedimentary. | il cigu)- Oy gl s @
@ Quartzite - metamorphic granular. e J 9 — 33198 @
(©) Breccia - clastic sedimentary. (LR gy - b (D)
(@ Marble - metamorphic granular. NEIESH PUCPENEN €)

38- In which of the following regions, the (g 1 950 AL Sl il :éi -Y¥A

shown tectonic movement exists? Ao 911 A0 9IS A4Syl

§ I IS
(@) Mediterranean sea. dasgiall ;o) ()
(b) Redsea. oS FEV N @
(©) North Egypt mountains. ras Jed Jla ()
(@) Himalaya Mountain. Wil e ()
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39- What’s the shape resulted from a2 Aon (0 (STl JSAT Lo - Y4
accumulated low viscous magma O A g MU ALdS Lala
between rocks layers? Ta,5ualt Sladal
@ fold. latt (7)

(b) loppolith. edsistt (©
(© laccolith. et S (D)
@ sills. samtt ()

40- -8
Mineral (1) Mineral (2) Mineral (3)
(V) o=t (Y) et (Y) Odaall
Golden color | Malleable & ductile Purple color
Qsll 2 Coudl g B all Jald iy digl
Black streak Metallic luster White streak
9wl Adidine S8 45 ol dddine
Study the previous table then: (@Balud) J gimtt Al ya (e
Determine the types of minerals (1), ((Y) (V) roalall g ads
(2), (3) respectively? 3 e (F)
@ (1) native mineral , (2) silicates , (i Guaa (V) @
(3) sulphides. Ol 8 (1) ol (1)
@ (1) sulphates , (2) native mineral , Oase (Y).0L0 8 (V) @
(3) silicates. OIS (V) (g puaie
@ (1) silicates , (2) sulphides , il oS (Y) olSds (V) @
(3) native mineral. e Oan (¥)
@ (1) sulphides , (2) native mineral , Oae (1) Ol 8 (V) @
(3) silicates. Ol (1) (g pmaic
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41- We must to know the streak to identify | 4,0 a3l aG%1 galatl JS -
all these minerals except ....... | ke Lo lgale 8 aill s

(@) Hematite. cstesst (1)
(® Quartz. Sl (Q
(©) Sulphur. ERINE

@ Pyrite. camdt (3)
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42- Which of the following graphs
represents the percentage of energy
transferred between the rings of
marine and desert food chains?

2.
Aol Olegw ) (e ) -8Y
AU Al ey AL
J=w D Olals (ny AL

A AL Al A
Ay g A gl el | Adead
the percentage of energy
transfered between the levels of

marine and desert food chain
A

(W)

A AL Al A
Ay 9 A )yl Alulad
the percentage of energy
transfered between the levels of

marine and desert food chain
A

NG

(Y)

@ (W) ® @

Obddat| dds

‘number of levels

>
number of levels

A1 youally d poud! o1 AN

A AL Al A
A yd g Al peaall Al
the percentage of energy
transfered between the levels of

marine and desert food chain
A

Oldadat| Ao

“number of levels

X)

o A d8lal A
Ay 9 A g) pomial ) Al
the percentage of energy
transfered between the levels of

marine and desert food chain
A

Oldadat| Ao

Olddat| dds

>
number of levels

@ ()

2)

© X
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43- All the following are products of the

differential erosion except

(@) Water falls.

ooooo

coleat ! dadluce

@ Wind terraces. RN { @
@ Alluvial cone. e | s g pmn @
@ Meanders. Ly yalead! @

44- While traveling on the Mediterranean | ,»u (hld o SLGEG L& -€ ¢
(doluad (1 A )liSu¥ ! (po dawu gl |

Y. ¥/

coast from Alexandria to Damietta,

you saw:
(1) The beach has eroded parts of it at a

greater rate than others.

o3 CUSTE Ud Lol ygdnia - )
Byl (10 ST Jubna) gl
OLEN (o dnyde Olie -Y
Ao lid) Aah il B g uall
(ot Al IS (0 Cadf i

(2) Stairs samples of rock fragments in
the coastal area.
Deduce the reason of each case from

®

The first was formed by erosion of
marine currents to hard rocks and the
second from erosion of waves to shore.

The first was formed by waves erosion
of rocks of varying hardness, and the
second by the effect of tide and ebb.

The first was formed by the effect
of tide and ebb, and the second by
erosion of rocks of varying hardness.

the previous cases? s Adalud| OY L)
(@) The first was formed by erosion of S (e i3SI Y1 ()
waves to rocks of similar hardness Ablaie jgiat lg—a¥!
and the second from erosion of marine | ce aalidiy dadcall
currents. Ay O L

o IS o (g 19

(e 2oldly ddall jghall

Glolilt 7130¥ 1 i

2l9e ¥ S (y0 S gS3 (Y @
ddbalizialiie jyial
gty wadl p8li (e 2l

LWOlidlg ity et i I oY1 @
g3l by Ol L G (0
udal| Lol

@
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45- The following figure represents LG ey Jolaty g i) -t 0
a sedimentary succession in the earth 4y Aidn s 3 oM (B (3 gua )
crust with igneous intrusions (A) , (B): (A ¢ B) A, O 4S

Xt { X

a. What is the geological structure >3 gt oS 5 Lo (1
expressed by letters (X — X)? 3(XX)

b. What is the geological structure > 87 gt S 5 L (o
expressed by letters (Y —Y)? (YY)

c. Identify the structure (B). .(B) oS5 e a5 (7

d. Which intrusion is older (A) or (B)? $(B) Al (A) A8 Lagal (2

46- Study the figure well then answer: 1ol @3 A 3yguall (pupdl - £

N N
P S P S a‘ - l
L~ P ‘
— /' e
calcareous
layers

5 ylin—
cave W

a. Detect the type of the geological process | st guntt Joall g3 3> (|

causing the origin of these caves? RAP{F (RN Cori PUPR
b. What’s the factor causing it? S Cocd Jalall Lo (s
c. Deduce the shapes of the deposition in i )

i ) JISE it (g

the caves? -
Sylat) d1a
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